

2. The given system is

$$-\beta \dot{x} = kx = k \sum_{i=1}^n s_i x_i + h \sum_{i=1}^n \dot{s}_i + \dot{z} C$$

where  $\beta > 0$ ,  $k > 0$ ,  $h > 0$ ,  $C > 0$

and  $\beta$  is a constant.

The system is linear and time-invariant. The transfer function is given by

$$G(s) = \frac{C}{\beta s + k}$$

$$G(s) = \frac{C}{\beta s + k} = \frac{C}{\beta} \frac{1}{s + \frac{k}{\beta}}$$

$$G(s) = \frac{C}{\beta} \frac{1}{s + \frac{k}{\beta}}$$

$$G(s) = \frac{C}{\beta} \frac{1}{s + \frac{k}{\beta}}$$

$$G(s) = \frac{C}{\beta} \frac{1}{s + \frac{k}{\beta}}$$

$$G(s) = \frac{C}{\beta} \frac{1}{s + \frac{k}{\beta}}$$

$$G(s) = \frac{C}{\beta} \frac{1}{s + \frac{k}{\beta}}$$

The system is linear and time-invariant. The transfer function is given by

...